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A person who does not believe in the existence of god
(A) Atheist (B) Heretic

(C) Theist (D) Fanatic




. He left office after ......
(A) he completed all his (B) he compieted his all work

work
(C) he had completed his (D) he had completed all his
all work work -

i Choose the correct antonym of diligent

(A) incompetent (B) frugal
(C) extravagant (D) neglegent
: The book is translated ---—---- many languages.
(A) in (B) from
(C) into (D} upon
: My boss was kind enough to accede -------- my request for
leave.
(A) with (B) on
(C) in (D) to

. The girl said, “May I wear this sarree, mother?” (Change into

indirect speech)

(A) The girl asked her mother if she might wear that saree.
(B) The girl asked her mother that may I wear this saree.
(C) The girl asked her mother if she may wear this saree.
(D) None of the above.

: Ramesh is a handsome boy. (Make it Exclamatory)

(A) Is Ramesh a handsome boy?

(B) What a handsome boy is Ramesh?

(C) What a handsome boy Ramesh is!

(D) None of the above.

. Select proi)er pronoun.

One should be proud of ---------- motherland.
(A) his (B) ones
(C) one’s (D) once

* Verdict 18 ----

(A) the opinion of a common man

(B) opinion of a Priest.

(C) opinion of a Doctor

(D) the official decision made by a judge in the court of Law
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* Each of the rooms ------ cleaned in the morning,.
(A) are (B) were
(C) was (D) have been
* Choose the correct alternative. She knows that he ----- in the
factory at this moment.
(A) has working (B) works
(C) has been worked (D) ig working
+ Complete the following proverb by choosing the correct
answer.
Prevention is ---------- than cure.
(A) much better (B) far better
(C) more better (D) better
- Choose one of the following words for completing the sentence
correctly.
Rama and Laxman were brothers. The ------ was younger than
the former.
(A) later (B) letter
(C) latter (D) last
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© CAD = 1 7
(A) Computer Algorithms for Design
(B) Computer Aided Design
(C) Computer Aided Drawing
(D) Computer Application in Design
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: Which is not Temporary Adjustment of theodolite ?

(A) Centering (B) Levelling

(C) Focusing (D) to adjust vertical axis

© Sometimes the points whose elevation is to be determined, lies
above the line of sight of the instrument, then in such a case the
staff is to be held from the point.

(A) straight (B) inclined
(C) inverted (D) vertical

* The main principle of surveying is to work from ........ .
(A) whole to part (B) part to whole
(C) part by part (D) none of these

: There are .... method/s of surveying with plain table.
(A) four (B) three
(C) only one (D) two

. In which levelling only back sight and fore sight readings are
taken continuously by shifting the level

(A) Fly levelling (B) Reciprocal levelling

(C) cross sectioning (D) differential levelling
: Total Station is what kind of instrument.

(A) optical (B) hydraulic

(C) mechanical (D) electrical

- Contour is an imaginary line joining the points having equal

(A) BS B) 18
(C) RL (D) FS
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: Convert whole circle bearing 143°30" to quadrant bearing

(A) N 143°30°E (B) S 36°30°E
(C) S37°30°E (D) N36°30°E

: Which instrument may be used for setting out perpendicular tc

the chain line?

(A) dumpy level (B) tachometer
(C) optic square (D) none of these
: The ends of chain are provided with __ handle.
(A) iron (B) steel
(C) brass (D) aluminium

: Chain, theodolite, traverse, plain table, tachometric, aerial are

the methods of ...........
(A) survey (B) photography
(C) levelling (D) reduced level

: Why permanent adjustment of dumpy level is necessary?

(A) to adjust peg of tripod (B) to correct fundamental

relation
(C) to adjust height of (D) none of these
telescope
: Temporary adjustment of dumpy level does not consist of
(A) marking (B) setting
(C) levelling (D) focusing
: Toposheet does not contain information about
(A) roads (B) canals
(C) population (D) settlements
: Least count of digital theodolite is
(A) 1sec (B) 1 degree
(C) 1 minute D) 1 mm
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